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2A: JleEs3u
34 388 J=Es
e S Al JE 5 (Gt H2)
A -3 - GR(3) - MRAE - BY Ofl &2y I3 ] ImE=r",
D= 4,109,244 4,260,270 A151,026
= 386,480 437,320 AB0,840
LS 206,500 206,500 0
e 3,516,264 3,616,450 A100, 186
HYNE JlsE3 4,068,270 4,219,350 151,080
= 386,480 437,320 50,840
< 206,500 206,500 0
i 3,475,290 3,575,530 100,240
Sat Al gt 25 1,384,330 1,408,910 19,580
= 122,480 123,320 1840
LS 67,500 67,500 0
= 1,194,350 1,213,090 A18,740
sesE S 65,700 62,440 3,260
201 Ler2aY| 17,700 15,940 1,760
01 At 2teltl 12,700 10,940 1,760
Otz gl 440,000+ 10042 4,400 2,640 1,760
208 g= =8l 4,000 2,500 1,500
03 A=A P2 4,000 2,500 1,500
O=dASEU JIsE2 AHFX 4,000 2,500 1,500
=Y DIMS HH2HH 2= 85,000 70,000 15,000
401 AlZHIL 2 CHY] 85,000 70,000 15,000
01 AlZHI 85,000 70,000 15,000
Os¢g 0142 HidlE 2 85,000 70,000 15,000
BAZES dYIH NHOlzE2SW) 4,930 5,770 AB40
= 4,930 5,770 AB840
206 MHZHI 4,930 5,770 2840
= 4,930 5,770 2840
01 M=l 4,930 5,770 2840
24Nz 4,930 5,770 2840
= 4,930 5,770 ABAD
Bl QHMAAL AFMET RI2A (M etAL) 299,000 336,000 AB7,000
< 40,000 40,000 0
i 259,000 296,000 A37,000
402 RI2EXH201 ™ 299,000 336,000 A37,000
< 40,000 40,000 0
z 259,000 296,000 A37,000
02 QIFR2Z AL R (0IXTHE) 299,000 336,000 AB7,000
Ot EoliE SSYMAN) RISA 299,000 336,000 AB7,000
< 40,000 40,000 0
z 259,000 296,000 A37,000
SYELSHY J=23 1,227,583 1,354,583 A127,000
= 164,000 214,000 50,000
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2A: JI=E2SH
M HFNE I3
Bel: sZasie JlsE=2 (SH9 H2)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl N3 A Hunsz
= 109,000 109,000 0
= 954,588 1,031,588 AT7,000
S8 MIE A-(ASES) 250,000 350,000 100,000
= 125,000 175,000 /50,000
i 125,000 175,000 A50,000
402 IZERH=0IN 250,000 350,000 100,000
= 125,000 175,000 A50,000
i 125,000 175,000 250,000
02 QIZEXH2 AL 22 (01 & &) 250,000 350,000 100,000
OHZA! ol 018 ATEY &DI= AlY 0 100,000 A 100,000
= 0 50,000 A50,000
= 0 50,000 /50,000
MII=EsSAY AS 653,718 680,718 A27,000
402 QI2ERHE0|1 A 653,718 680,718 A27,000
01 QIZEXHE AR B2 (KERITHE) 653,718 680,718 A27,000
Ot RHES Hloll 22 AIE2S AlY
5,000, 0002 *3nax60% 9,000 12,000 A3,000
O0I&JIA S ASEE LED 223T 4]
A 0 24,000 224,000
MASESF A+ 1,456,352 1,460,852 24,500
= 100,000 100,000 0
& 30,000 30,000 0
i 1,326,352 1,330,852 24,500
ANENE AlEEZ2e2Y 191,682 196,182 24,500
206 =4l 26,600 38,600 A 12,000
01 M=l 26,600 38,600 A12,000
OASANERE 2 M7
1,300,000& * 103 13,000 25,000 A12,000
402 QI2ERHE01 A 13,500 18,000 24,500
01 QIZEXHE AL B2 (KERITHE ) 13,500 18,000 24,500
OLF 2 - AYIAIAE AlY
7,500, 0002 *3IH 2 +60% 13,500 18,000 24,500
405 XHAHE SHI 12,000 0 12,000
01 ML =EFSHI 12,000 0 12,000
OZEHHI0IE 2 9,000 0 9,000
OvIblE =4 &l 7 3,000 0 3,000
NEESOI=222) 5 0 %!
ISFSNES 54 0 54
BAz ez 54 0 54
802 BrEt=a | Et 54 0 54
01 SFNEXFEEZ 5 0 %!
ORX=Z #FAH| XIA(2019) 54 0 54
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